Dawson College: Linear Algebra (SCIENCE): 201-NYC-05-S1: Winter 2023: Quiz 3

Books, watches, notes or cell phones are not allowed. The only cals

Question 1. (4 marks) Solve for A, if possible.

culators allowed are the Sharp EL-531%*. You must show all your work, the correct answer is worth 1 mark the remai
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Question 2. (4 marks) A matrix B is said to be a square root of a matrix A if BB = A. Find all square roots of {O (9)] .

Let B “j] then  BBzA
¢ [a b {u blz [q 0
¢cdlled) lo7]
nt+bc ob ._,[9' 0]
ac+de betd' 0]
0a‘+bc=l;
@ abebd=0 =1 blxvd)*0
@ ocC +d5'0
bc-lfdz-q
=0 o pu-d: 0

Question 3. (4 marks) Prove: That the trace is a linear operator. That is, if A and B are n x n matrices and a, 8 are scalars then trace(aA + B)

o trace(A) + B trace(B).
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